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Passage:

Many people find it difficult to understand Shakespeare, but surprisingly he wrote in modern English.Elizabethan English has
more similarity to our English than it has with that written by Chaucer.Certainly, many familiar words were first formed or
coined by Shakespeare. Around 2000 words and even more phrases owe their origin to Shakespeare. First time readers of his
writing are normally surprised by the overwhelming number of cliches present in his plays not knowing that he coined them
and they were letter adopted or became part of English. Examples of such phrases are vanish into thin air, one fell swoop, and
flesh and blood. He furthermore, he donated many word to English among them, leapfrog, dwindle, critical, majestic, and
pendant.

Itemcode : VT1066
Q1 : A word that is first coined is known as:

(a) logos

(b) syllogism
(c) neologism
(d) synonym
Key: C

Itemcode : VT1067

Q2 : From the alternatives given below, find an equivalent from the passage that implies: " A word or phrase used so often
so as to lose it's original meaning or sense".

(a) leapfrog
(b) fell

(c) cliche
(d) pendant
Key: C

Itemcode : VT1068
Q3 : Chaucer mentioned in the passage was

(a) Shakespeare's predecessor
(b) an Elizabethan writer

(c) Shakespeare's contemporary
(d) Shakespware's successor
Key: A

Itemcode : VT1069
Q4 : From the options provided below, find the equivalent of "all at once" or "at one go"

(a) leapfrog

(b) in one fell swoop
(c) overwhelming
(d) dwindle

Key: B

Itemcode : VT1070
Q5 : From the alternatives given below, select a suitable title for the above passage:

(@) Majestic Shakespearean English

(b) Shakespeare's Amazing Contribution to English
(c) The Stunning Cliches in Shakespearean English
(d) Overwhelming Elizabethan English

Key: B

Passage:

One of the best feelings in the world that also brings so much of cheer to life is laughter. It really is one of the best medicines
in the world. Also, whether it's a smile or just a slight giggle, laughter completely alters the atmosphere and mood of the
surroundings. Furthermore, it makes you feel good and everyone around you will also feel positive vibes. Laughter acts as a
powerful antidote for pain,stress, and conflict. There is nothing that works faster in order to bring back mind and body into
balance than a good laugh. Also, humor lightens your burden, connects you to others and keep you focused. Thus, laughter
has so much power to renew and heal one's mind and body. Also, the ability to laugh frequently is the best way to surmount
the problems. Furthermore, it supports your emotional as well as physical health. Additionally, laughter also enhances your
relationships.

Itemcode : VT1071
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Q6 : From the alternatives given below, find an equivalent for the term "overcome"

(a) renew and heal
(b) keep focussed
(c) enhance

(d) surmount
Key: D

Itemcode : VT1072

Q7 : From the alternatives provided below, find a single word from the passage that conveys " emotional signals given
through body language and social interaction"

(a) vibes
(b) humour
(c) mood
(d) cheer
Key: A

Itemcode : VT1073
Q8 : From the options listed below identify the one that does not describe laughter appropriately.

(@) stress buster

(b) unburdening

(c) mood changer
(d) mood swinger
Key: D

Itemcode : VT1074

Q9 : With the help of options given below, identify the following statements as True and False.
(I) Laughter enlivens the environment by spreading cheer.
(II) It sends positive signs to people around.
(III) It enhances problems and undermines relationships.
(IV) It rejuvenates the mind and heals the body.

(a) Statements (I) and (II) are True but statements (III)and (IV) are False.
(b) Statements (I), (II) and (IV) are True but statement (III)is False.

(c) Statements(I) and(1V) is True but statements (II)and (III) are False.
(d) All the Statements are True.

Key: B

Itemcode : VT1075
Q10 Select a suitable title for the passage from the options given below:

(a) Laughter: an antidote to pain
(b) The best feeling in the world

(c) Laughter: the best medicine

(d) Let us laugh away the blues

Key: C

Itemcode : VT1031
Q11 Find out whether the given argument is:

There are hundred marbles in the box

One of the marbles is red.

Ninety nine of the marble is blue.

Therefore, the probability that next marble picked will be blue is 99%.

(@) Inductive

(b) Deductive.
(c) Both

(d) Cannot say
Key: B

Itemcode : VT1032
Q12 The definition "'Fault' means flaw" is an example of:

(a) A definition by genus and difference.
(b) A persuasive definition.

(c) A synonymous definition.

(d) An operational definition.

Key: C

Itemcode : VT1033
Q13 As a lexical definition, the definition "'Keyboard' means a board with keys" may be criticized as:

(a) Being ambiguous.

(b) Failing to indicate the context to which the defines pertains.
(c) Being too broad.

(d) Being circular.

Key: D
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Itemcode : VT1034
Q14 The following dispute is described as:
Arjun: Logic subject is very easy.
Biju: I have taken the course last semester, but I didn't find it easy at all.

(a) Factual.

(b) Fundamental.

(c) Legal.

(d) Verbal arising from ambiguity
Key: D

Itemcode : VT1035

Q15 The below argument is:
Some students are boys.
Someone is not a student.
Therefore, someone is not a boy

(a) Valid

(b) Invalid

(c) Data is not sufficient
(d) Inductive

Key: B

Itemcode : VT1036

Q16 "From where are they bringing their books? bringing books from
The words that best fill the blanks in the above sentence are

(a) Their, they're, there

(b) They're, their, there

(c) There, their, they're

(d) They're, there, there
Key: B

Itemcode : VT1037

Q17 What is the missing humber in the following sequence?
2,12, 60, 240, 720, 1440, , 0

(a) 2880
(b) 1440
(c) 720
(d) o
Key: B

Itemcode : VT1042

Q18 Five sentences are given below, labelled a, b, ¢, d and e. They need to be arranged in a logical order to form a coherent
paragraph/passage. From the given options, choose the most appropriate sequence.

a. But it will soon have plenty of greying company, from wealthy countries such as Finland and South Korea to
developing giants, including China and Russia.

b. They also expect heavier fiscal burdens, with governments providing for more pensioners from a smaller tax base.
c. When it comes to the economic impact of demography, Japan is the wizened canary in the world's coal mine.

d. Economists generally agree that the ageing of populations leads to slower growth, because a country's potential
output tends to fall as its labour force shrinks.

e. It has become older faster than any other big country: its median age went from 34 in 1980 to 46 today, and will
continue rising for decades.

(a) abcde
(b) bcdae
(c) cdeab
(d) ceadb
Key: D

Itemcode : VT1043

Q19 In a 155 ml homogenous mixture of liquor, water and soda, the concentration of liquor is highest and that of soda is
least. Quantities (in ml) of Soda, water and liquor, which are integers, are in a Geometric Progression, in the given
order. 31 ml of solution is withdrawn and replaced with liquor. Now, again 31 ml of solution is withdrawn and replaced
with water. What additional amount of water should be mixed to the solution such that concentration of water becomes
40%?

(a) 25 ml
(b) 35 ml
(c) 45 ml
(d) 55 ml
Key: A

Itemcode : VT1044

Q20 In a triangle ABC, points P and S are on the sides AB and AC respectively. Points Q, R and T are on the sides BC. If BP :
: PA=1:2,BQ:QR:RT:TC=1:1:2:1,CS:AS =2: 1, then find the ratio of the areas of triangles APR and ASR
respectively.

(a) 2:3
(b) 1:3
(c) 4:3
(d) 3:4
Key: C
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Itemcode : VT1045

Q21 If you place 9 at the left end of a five-digit number you will get a six-digit number. This six-digit number is four-times
the six-digit number that you get when you put 9 at the right end of the original five-digit number. What is the sum of
the digits of the five-digit number?

(a) 18
(b) 27
(c) 17
(d) Data Insufficient
Key: A

Itemcode : VT1046

Q22 In how many ways can Rs.18.75 be paid by using exactly 85 coins, comprising at least one coin of each of
denominations of 50 p., 25 p. and 10 p.?

(a) One
(b) Two
(c) Four
(d) Eight
Key: D

Itemcode : VT1047

Q23 The difference between the compound interest, compounded annually, and simple interest earned on an amount at a
certain rate of interest for 2 years is Rs.20 and for 3 years it is Rs.64. Find the value of the amount.

(a) Rs. 200

(b) Rs. 400

(c) Rs. 500

(d) Cannot be determined
Key: C

Itemcode : VT1048

Q24 A survey was conducted in Goa regarding the following electrical/electronics appliances - mobile, TV and AC. The survey
found that
The number of residents owning all three is the same as those owning none.
The number of residents owning any two out of the three appliances is the same (regardless of which two items) and
this is same as those owning none of the three.
The number of residents owning TVs alone is the same as those owning mobiles alone and each in turn is twice those
owning ACs alone.
Half the number of residents who own a AC also own at least one of the other two appliances.
What percentage of the residents who own a mobile, also own at least another appliance?

(a) 66 2/3%
(b) 13 2/3%
(c) 28 4/7%
(d) 331/3%
Key: D

Itemcode : VT1049

Q25 Read the below paragraph and answer the question.
There are six women, Shalini, Divya, Ritu, Rashmi, Nisha and Renu in a family of 12 members. There are a few married
couples in the family and none of the grand children are married. Sunil is married into the family. Rohan, Mahesh and
Jatin have a nephew Dipesh who is the only son of Rashmi. Ravi is the parental grandfather of Nisha. Ritu is the
daughter-in-law of Shalini. Renu is the first cousin of Dipesh. Shalini has only three grandchildren. Mahesh has two
brothers and only one sister Rashmi and a sister-in-law Divya. Dipesh's only unmarried maternal uncle, Jatin is the
brother-in-law of Sunil. Rohan is the parental uncle of Nisha. Ritu has two daughters one of whom is Nisha.

How many married couples are there in the second generation ?

(a) 1
(b) 2
(c) 3
(d) 4
Key: C

Itemcode : VT1050

Q26 Read the below paragraph and answer the question.
There are six women, Shalini, Divya, Ritu, Rashmi, Nisha and Renu in a family of 12 members. There are a few married
couples in the family and none of the grand children are married. Sunil is married into the family. Rohan, Mahesh and
Jatin have a nephew Dipesh who is the only son of Rashmi. Ravi is the parental grandfather of Nisha. Ritu is the
daughter-in-law of Shalini. Renu is the first cousin of Dipesh. Shalini has only three grandchildren. Mahesh has two
brothers and only one sister Rashmi and a sister-in-law Divya. Dipesh?s only unmarried maternal uncle, Jatin is the
brother-in-law of Sunil. Rohan is the parental uncle of Nisha. Ritu has two daughters one of whom is Nisha.

Which one of the following is true?

(a) Dipesh is son of Mahesh

(b) Ravi has only two married children
(c) Ravi is parental grandfather of Renu
(d) None of these

Key: C

Itemcode : VT1051
Q27 Read the below paragraph and answer the question.
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There are six women, Shalini, Divya, Ritu, Rashmi, Nisha and Renu in a family of 12 members. There are a few married
couples in the family and none of the grand children are married. Sunil is married into the family. Rohan, Mahesh and
Jatin have a nephew Dipesh who is the only son of Rashmi. Ravi is the parental grandfather of Nisha. Ritu is the
daughter-in-law of Shalini. Renu is the first cousin of Dipesh. Shalini has only three grandchildren. Mahesh has two
brothers and only one sister Rashmi and a sister-in-law Divya. Dipesh's only unmarried maternal uncle, Jatin is the
brother-in-law of Sunil. Rohan is the parental uncle of Nisha. Ritu has two daughters one of whom is Nisha.

3. Which of the following is a married couple ?

(a) Rohan and Ritu

(b) Shalini and Mahesh
(c) Renu and Sunil

(d) Mahesh and Ritu
Key: D

Itemcode : VT1052

Q28 Read the below paragraph and answer the question
Students U, V, X, Y and Z collected Compact Disks (CDs) of old melodious songs. They collected a total of 100 CDs.
None of them has collected less than 10 CDs. No two among them collected the same number of CDs.
U collected the same number of CDs as V and X put together.
X collected 3 more CDs than the cube of an integer.
The number of CDs collected by U was the square of an integer
The number of CDs collected by V was either the square or the cube of an integer.
The number of CDs collected by Y and Z are in the ratio 4 : 3.

What was the number of CDs collected by V?

(a) 16
(b) 25
(c) 27
(d) 64
Key: B

Itemcode : VT1053

Q29 Read the below paragraph and answer the questions .
Students U, V, X, Y and Z collected Compact Disks (CDs) of old melodious songs. They collected a total of 100 CDs.
None of them has collected less than 10 CDs. No two among them collected the same number of CDs.
U collected the same number of CDs as V and X put together.
X collected 3 more CDs than the cube of an integer.
The number of CDs collected by U was the square of an integer
The number of CDs collected by V was either the square or the cube of an integer.
The number of CDs collected by Y and Z are in the ratio 4 : 3.
What was the difference in the number of CDs collected by X and Y?

(@ 5
(b) 7
(c) 9
(d) 11
Key: A

Itemcode : VT1054

Q30 A child has x number of chocolates. If 7 of the chocolates are dark chocolates , 5 of the chocolates were given to the
child by her uncle, 3 of the chocolates are dark chocolates given to the child by her uncle and 4 of the chocolates are
neither dark chocolates nor given to the child by her uncle, what is the value of x?

(a) 13
(b) 9
(c) 12
(d) None
Key: A

Itemcode : VT1055

Q31 Two NGOs X and Y are raising fund for corona patients. The ratio of amount collected by NGO X to the amount collected
by NGO Y is 7:6. The ratio of number of volunteers in NGO X to the number of volunteers in NGO Y is 2:3. Then the
ratio of the amount collected per volunteer in NGO X to the amount collected per volunteer in NGO Y is

(a) 6:4
(b) 4:6
(c) 4:7
(d) 7:4
Key: D

Passage:
The passage given below is followed by a set of four questions. Choose the most appropriate answer to each question.

The current debate on the land law is important because it affords us a chance to reflect more deeply on the nature of India's
development process and the experience of democracy for a majority of our citizens. I see the 2013 land law as part of a
response - highly belated in my view - to the perception of millions of our people that while India's economy was booming
over the last two decades, they were not part of the growth story.

Indeed, many people feel that development has happened at their cost. Official estimates place the number of people
displaced due to development projects since Independence at 60 million, less than a third of whom have been properly
resettled. Most of the displaced are the asset less rural poor, marginal farmers, poor fisherfolk and quarry workers. Around 40
per cent of them are Adivasis and 20 per cent Dalits. Official statistics testify that on all indicators of development, Dalits and
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Adivasis have been the worst-off groups. Already at the bottom of the development pyramid, being deprived of their land and
livelihoods has completely pauperised them, forcing many to move and live in subhuman conditions in our metros. The last
two decades have also seen unprecedented agrarian distress, with more than two lakh farmers committing suicide, as per the
National Crime Records Bureau. This is something that had never happened before in Indian history.

It is in this backdrop that we need to understand the heightened sensitivities and palpable anger over forcible land acquisition.
Given that 90 per cent of our coal, more than 50 per cent of most minerals, and prospective dam sites are mainly in Adivasi
regions, there has been, and is likely to be, continuing tension over issues of land acquisition. Through these tensions, not
only has a question mark been placed over our development strategy, the delicate fabric of Indian democracy has become
terribly frayed at the edges. In the remote Adivasi heartlands of India, people feel such a deep and abiding sense of hurt,
alienation and cynicism that they have allowed themselves to be helplessly drawn into a terrible vortex of violence and
counter-violence, even when they know in their heart of hearts that it will lead to their own destruction.

The 2013 land law tried to reach out to these people by undoing a draconian colonial Act more suited to a 19th century empire
than to a 21st century vibrant democracy. At the heart of the 2013 law was the provision of seeking the consent of those
whose lands were to be acquired and of caring for those whose livelihoods would be destroyed in the process. Undoing these
provisions is a virtual resurrection of undiluted powers of 'eminent domain', which the 1894 law conferred on the State. I do
not dispute the fact that there can be many situations where land is needed for a development project that could actually
benefit those whose lands are being acquired. What could be the possible harm in seeking the prior, informed consent of these
people, after making the effort of explaining to them how they would stand to benefit? There are those who argue that
farmers would be better off giving up farming. Indeed, they say that farmers do not want to farm any more. Why would these
farmers conceivably say no if we were to propose more attractive and tangible alternative options to them in return for their
land? Is it not for farmers to assess whether the project will actually be of benefit to them and whether the recompense
offered to them is a fair bargain?

Itemcode : VT1038
Q32 Which of the following options would the author most agree with?

(a) India cannot continue with a pattern of industry that generates so few jobs but has such a large displacement outcome.
(b) India's development has been at the cost of the marginal farmer who has never received adequate compensation for the
price of progress.

(c) The land law debate must be the occasion to talk about key national agendas.

(d) Displacement of individuals is part of the story of any developmental thrust.

Key: A

Itemcode : VT1039
Q33 It can be inferred that when the author refers to "eminent domain" he means

(a) The provision to seek consent from those whose lands were to be acquired.

(b) The power of the State to acquire land forcibly from the owners of private property.

(c) The inevitability that the land owned by people would eventually be up for acquisition by the state.
(d) Land has more eminent and powerful uses when it is acquired for government use.

Key: B

Itemcode : VT1040
Q34 Which of the following options would go against the argument in the passage?

(a) Determining the Social Impact of a project can help the government understand if a proposed project is necessary.

(b) Many people are rightly concerned about the cost of the decisions taken in development projects.

(c) If we want to acquire the land of farmers to serve larger goals, the projects in which they are embodied must not be of
the kinds that repeat the mistakes of the past.

(d) The last two decades have seen a man made agrarian crisis that has been unprecedented.

Key: D

Itemcode : VT1041
Q35 Which of the following options is the best solution that the author seems to suggest at the end of the passage?

(a) The government must listen to farmers and allow them to suggest solutions to land acquisition issues.

(b) Social provisions must be made for those farmers who are to be affected by the land acquisition policies of the
government.

(c) The compensation to farmers must be commensurate to the cost that they incur as a result of giving up their land.
(d) Malpractices in land acquisition should be checked with the setting up of a regulatory body.

Key: A

Itemcode : VT1056
Q36 Who is the father of Geometry?

(a) Aristotle
(b) Euclid

(c) Pythagoras
(d) Kepler
Key: B

Itemcode : VT1057
Q37 What is common between Kutty, Shankar, Laxman and Sudhir Dar?

(a) Film Direction
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(b) Drawing Cartoons
(¢) Instrumental Music
(d) Classical Dance
Key: B

Itemcode : VT1058
Q38 Who was known as Iron man of India?

(a) Govind Ballabh Pant

(b) Jawaharlal Nehru

(c) Subhash Chandra Bose
(d) Sardar Vallabhbhai Patel
Key: D

Itemcode : VT1059
Q39 Lai Haraoba Festival is observed by which state

(a) Sikkim
(b) Tripura
(c) Mizoram
(d) Nagaland
Key: B

Itemcode : VT1060
Q40 Which port is renamed as Shyama Prasad Mukherjee port?

(a) Kolkata Port

(b) Chennai Port

(c) Paradip Port

(d) Visakhapatnam Port
Key: A

Itemcode : VT1061
Q41 Who became fastest Indian Spinner to claim 100 wickets ODI ?

(a) Ravichandran Ashwin
(b) Ravindra Jadeja

(c) Kuldeep Yadav

(d) Yuzvendra Chahal
Key: C

Itemcode : VT1062
Q42 Which state passes a bill to propose 3 capitals for State?

(a) Telangana

(b) Himachal Pradesh
(c) Madhya Pradesh
(d) Andhra Pradesh
Key: D

Itemcode : VT1063
Q43 Which city is declared as the Summer capital of Uttarahand?

(a) Deharadun
(b) Nainital
(c) Gairsain
(d) Joshimath
Key: C

Itemcode : VT1064
Q44 The Indian to beat the computers in mathematical wizardry is

(a) Ramanujam

(b) Rina Panigrahi
(c) Raja Ramanna
(d) Shakunthala Devi
Key: D

Itemcode : VT1065
Q45 Film and TV institute of India is located at

(@) Pune (Maharashtra)
(b) Rajkot (Gujarat)

(c) Pimpri (Maharashtra)
(d) Perambur (Tamilnadu)
Key: A
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Itemcode : VT1001
Q46 A Gammacoronavirus in the family Coronaviridae causes one of the following diseases in poultry?

(a) Marek's disease

(b) Infectious Bronchitis

(c) Infectious Laryngotracheitis
(d) Fowl pox

Key: B

Itemcode : VT1002
Q47 Rumen pH in cattle with subclinical or chronic rumen acidosis usually ranges from:

(a) 4.5t05.0
(b) 5to 5.5
(c) 6to 6.5
(d) 6.5t0 7.0
Key: B

Itemcode : VT1003

Q48 There are cases of Neurocysticercosis in humans as a result of consumption of meat infested by larvae of meat borne
: parasites when not cooked properly, can you identify the parasites?

(a) Toxoplasma gondi and Schistosoma manson

(b) Taenia solium and Echinococcus species

(c) Diphyllobothrium latum and Cryptosporidium species
(d) All of the above

Key: B

Itemcode : VT1004
Q49 Diarrhea is common in all the following disease except:

(a) Bovine virus diarrhea
(b) Salmonellosis

(c) Endoparasitism

(d) Selenium deficiency
Key: D

Itemcode : VT1005

Q50 Beta casein is a chain 229 amino acids in length. Cows that produce this protein in their milk with a at
: number 67 are called A2 cows, and are of older breeds.

(a) Histidine
(b) Proline
(c) Leucine
(d) Vvaline
Key: B

Itemcode : VT1006
Q51 Death due to lightning causes:

(a) Hemorrhagic patches on skin
(b) Arborescent markings on skin
(c) Lumpy skin

(d) None of the above

Key: B

Itemcode : VT1007
Q52 Clinical signs of hypomagnesaemia (grass tetany, lactation tetany) are most closely correlated with:

(a) Serum magnesium levels

(b) Cerebrospinal fluid magnesium levels
(c) Red blood cell magnesium levels

(d) Hepatic magnesium levels

Key: B

Itemcode : VT1008

Q53 Which of the following poultry origin zoonotic pathogen can cause the Guillain Barre syndrome Reactive Arthritis in
: human?

(a) Salmonella Enteritidis
(b) Campylobacter jejuni
(c) Avipathogenic E. coli
(d) Avian Influenza type A
Key: B

Itemcode : VT1009

Q54 Such clinical signs as staggering, muscle tremors, snapping of the eye lids, champing of jaws, excessive salivation,
bellowing, rolling of eyes, apparent blindness and clonic convulsions are characteristic of:
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(a) rabies

(b) lead poisoning
(c) listeriosis

(d) hypocalcemia
Key: B

Itemcode : VT1010

Q55 The Animal Welfare Board of India, is a statutory body on Animal Welfare Laws and promotes animal welfare in the
: country, was established in 1962 under Section 4 of the Prevention of Cruelty to Animals Act, 1960 (No. 59 of 1960)
whose functions are:

(a) Advisory

(b) Judicial

(c) Financial

(d) All of the above
Key: A

Itemcode : VT1011

Q56 Which pathogens he/she may inoculate into the dairy foods while handling, if a person working in dairy plant does not
: follow personal hygiene?

(a) Staphylococcus aureus, Escherichia coli & Salmonella species
(b) Rota virus, Hepatitis A & Shigella species

(c) Bothaandb

(d) None of the above

Key: C

Itemcode : VT1012
Q57 "Milk spots" in liver of pigs are caused by migration of larval stages in:

(a) Trichuris suis

(b) Ancylostomum duodenale

(c) Oesophagostomum dendatum
(d) Ascaris suum

Key: D

Itemcode : VT1013
Q58 By what mechanism does the exotoxin of Clostridium botulinum cause neurologic disease?

(a) Blocks acetylcholine receptor on surface of muscle

(b) Blocks acetylcholine release at neuromuscular junction
(c) Blocks the action of acetylcholinesterase

(d) All of the above

Key: B

Itemcode : VT1014
Q59 In a 'rabid' cow, which specimen is rabies virus likely to be found in highest concentration?

(a) Urine

(b) Blood

(c) Milk

(d) Cerebrospinal fluid
Key: D

Itemcode : VT1015

Q60 How long after the intradermal tuberculin injection should the caudal tail fold test for tuberculosis in cattle be
: interpreted:

(a) 18 to 30 hours
(b) 66 to 78 hours
(c) 30 to 42 hours
(d) 90 to 102 hours
Key: B

Itemcode : VT1016

Q61 If milk is adulterated with Formalin which of the following will react with it to give a purple colour ring at the junction of
: the milk layer.

(a) Sulphuric acid
(b) Ferric chloride
(c) Hydrochloric acid
(d) BothA&B

Key: D

Itemcode : VT1017

Q62 As a young Veterinarian you are called to necropsy a calf that has died suddenly. Initial examination of the calf shows
non clotted blood exiting from the nares, mouth, and anus. What is the most important course of action?

(a) Continue the necropsy to confirm your suspicion of rodenticide poisoning.
(b) Do not proceed with necropsy due to a possibility that calf died from Anthrax
(c) Continue the necropsy to confirm that calf died from Rinderpest.
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(d) None of the above
Key: B

Itemcode : VT1018

Q63 A well circumscribed 'ping' on simultaneous auscultation-percussion of the left paralumbar fossa of a post parturient
dairy cow is most suggestive of:

(a) Caecal torsion

(b) Abomasal displacement
(c) Pneumoperitoneum

(d) BothA&B

Key: D

Itemcode : VT1019
Q64 In necropsy findings of a certain poison the smell of 'bitter almonds' in the rumen is described as typical of:

(a) Hydrocyanic acid poisoning.
(b) Nitrate and Nitrite poisoning
(c) Oxalate poisoning

(d) Strychnine poisoning

Key: A

Itemcode : VT1020
Q65 In a dairy cow, sitting position with hind limbs forward following calving indicates:

(a) Parturient paresis

(b) Obturator nerve paralysis
(c) Hypomagnesaemia

(d) Milk fever

Key: B

Itemcode : VT1021
Q66 In Erysipelas in swine the necropsy findings which are pathognomic, are characterized by;

(a) Diamond-shaped skin lesions,

(b) Paintbrush hemorrhage in stomach
(c) Koplik's spots inside the mouth

(d) Gun metal kidneys

Key: A

Itemcode : VT1022
Q67 What is the upper limit set by FSSAI for contamination of milk with urea?

(a) 70 mg/100 ml
(b) 50 mg/100 ml
(c) 100 mg/100 ml
(d) 140 mg/100 ml
Key: A

Itemcode : VT1023
Q68 A short period of hyperthermia is advantageous in an infectious disease because:

(a) Phagocytosis takes place.

(b) Immune body productions are facilitated.

(c) Viability of most invading organism is impaired.
(d) All of the above.

Key: D

Itemcode : VT1024

Q69 A 6 year old Holstein cow with diarrhea fails to respond to anti microbial therapy is euthanized. At necropsy, the mucosa
of the large intestines is grossly thickened. Histology examination reveals acid fast bacteria in the mucosa of the
thickened intestine. What is the most likely cause of these findings?

(a) Actinomyces bovis.

(b) Mycobacterium paratuberculosis
(c) Salmonella typhimurium

(d) Phythium insidiosum

Key: B

Itemcode : VT1025
Q70 Diagnosis of rabies has been greatly facilitated in recent years by use of the:

(a) Complement fixation test

(b) Gel diffusion precipitation test
(c) Fluorescent antibody test

(d) Haemagglutination inhibition test
Key: C
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Itemcode : VT1026

Q71 Quick and efficient Disease reporting system has been engineered by the Government of India, with a computerized
network Program, linking each Block, District & State Head quarters to the Central Project Monitoring Unit in the
Ministry of DADF, New Delhi and the program is known as:

(a) ASCAD
(b) NLM
(c) NADCP
(d) NADRS
Key: D

Itemcode : VT1027
Q72 Pasteurization of milk can kill organism producing:

(a) Tuberculosis
(b) Brucellosis

(c) Q fever

(d) All of the above
Key: D

Itemcode : VT1028
Q73 Liver abscesses in cattle occur most commonly as a sequela of:

(a) Grain overload with rumen acidosiss.

(b) Diarrhea caused by enterotoxigenic Eschericha coli .
(c) Pneumonia caused by Pasteurella

(d) Mastitis caused by Staphylococcus .

Key: A

Itemcode : VT1029

Q74 A five year old cow has lost body condition and is producing less milk. The farmer mentions that the cow shows pain on
urination. A urine sample contains blood and pus cells. A Gram stain of a direct smear of urine sediment shows gram
positive diphtheroid rods. What is the most likely cause of these findings:

(a) Actinomyces bovis

(b) Leptospira Pomona

(c) Corynebacterium renale
(d) Nocardia asteroids
Key: C

Itemcode : VT1030
Q75 Lobar pneumonia with red hepatization and 'marbled' appearance of lung is seen in the following disease:

(a) CCPP

(b) Botulism

(c) Hemorrhagic Septicemia
(d) Black Quarter

Key: A
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